

**BID2025-18A LEAD SERVICE LINE REPLACEMENT PROGRAM - PHASE 5A FOR THE CITY OF TRENTON DEPARTMENT OF WATER AND SEWER TRENTON WATER WORKS VIRTUAL BID OPENING ON JUNE 3 2025 AT 11:00AM**

R OM N E & G Corp

PRICE SCHEDULE  
 TRENTON WATER WORKS  
 LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5A - TRENTON  
 BID2025-18  
 BASE BID

This project is funded through the SRF program. The total dollar amount of the construction project will not exceed the funds available. The number of water service lines will be adjusted based on the accepted unit price bid to stay within budget.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A-1. WATER SERVICE REPLACEMENT - UTILITY SIDE  Four Thousand Six Hundred Ninety Dollars and No Cents (write Unit Price in words)	470	EACH	\$ 4,690.00	\$ 2,204,300.00
1.	A-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - UTILITY SIDE  Four Thousand Six Hundred Ninety Dollars and No Cents (write Unit Price in words)	115	EACH	\$ 4,690.00	\$ 539,350.00
1.	B-1. WATER SERVICE REPLACEMENT - HOMEOWNER SIDE  Two Thousand Eight Hundred Dollars and No Cents (write Unit Price in words)	375	EACH	2,800.00	1,050,000.00
1.	B-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - HOMEOWNER SIDE  Two Thousand Eight Hundred Dollars and No Cents (write Unit Price in words)	15	EACH	2,800.00	42,000.00
1.	C. NEW CORP STOP AT MAIN  Fifty Dollars and No Cents (write Unit Price in words)	100	EACH	50.00	5,000.00
1.	D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN  Five Hundred Dollars and No Cents (write Unit Price in words)	30	EACH	500.00	15,000.00
1.	E. WATER METER REPLACEMENT  Twenty Dollars and No Cents (write Unit Price in words)	40	EACH	20.00	800.00
1.	F. ACCESS NOT PROVIDED  Twenty-Five Dollars and No Cents (write Unit Price in words)	40	EACH	25.00	1,000.00
1.	G. CURB STOP IN CONCRETE  Thirty-Six Dollars and No Cents (write Unit Price in words)	700	EACH	36.00	25,200.00
1.	H. LONG-SIDE REPLACEMENT  Five Hundred Dollars and No Cents (write Unit Price in words)	295	EACH	500.00	147,500.00
1.	I. NEW CURB BOX (TEST P:T)  Sixty Dollars and No Cents (write Unit Price in words)	50	EACH	60.00	3,000.00
1.	J. NEW CURB VALVE (HOMEOWNER SIDE)  Sixty Dollars and No Cents (write Unit Price in words)	50	EACH	60.00	3,000.00

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
2.	TEST PIT AT CURB STOP	150	EACH		
	One Thousand Three Hundred Dollars and No Cents (write Unit Price in words)			\$ 1,300.00	\$ 195,000.00
3. A.	FINAL PAVEMENT RESTORATION (Infra-red)	150	SY		
	One Hundred Dollars and No Cents (write Unit Price in words)			100.00	15,000.00
3. B.	FINAL PAVEMENT RESTORATION (Mill and Paving) (GUARANTEED MINIMUM 1,000 SY)	1,500	SY		
	Twenty-Nine Dollars and No Cents (write Unit Price in words)			29.00	43,500.00
3. C.	FINAL RESTORATION COMPLETED	780	EACH		
	Five Hundred Dollars and No Cents (write Unit Price in words)			500.00 (minimum \$500)	390,000.00
4	ENVIRONMENTAL PROTECTION		LUMP SUM		
	Five Thousand Dollars and No Cents (write Lump Sum Price in words)			5,000.00	5,000.00
5	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER		ALLOWANCE		
	ONE HUNDRED FIFTY THOUSAND DOLLARS (write Unit Price in words)			\$150,000	\$150,000
6	UNIFORMED POLICE TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	TWO HUNDRED EIGHTY THOUSAND DOLLARS (write Unit Price in words)			\$280,000	\$280,000
7	FLAGGER TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	ONE HUNDRED TWENTY THOUSAND DOLLARS (write Unit Price in words)			\$120,000	\$120,000
8	PITCHER FILTERS AND REPLACEMENT CARTRIDGES	1,100	EACH		
	Forty Dollars and No Cents (write Unit Price in words)			40.00	44,000.00
9	PERMIT FEE ALLOWANCE		ALLOWANCE		
	THREE HUNDRED THOUSAND DOLLARS (write Unit Price in words)			\$300,000	\$300,000
10	TECHNICIAN ALLOWANCE		ALLOWANCE		
	SIXTY THOUSAND DOLLARS (write Unit Price in words)			\$60,000	\$60,000
TOTAL BASE BID PRICE IN FIGURES (Items 1A-1 through 10)		\$ 5,638,650.00			
TOTAL BASE BID PRICE IN WORDS (Items 1A-1 through 10)		\$ Five Million Six Hundred Thirty-Eight Thousand Six Hundred Fifty Dollars and No Cents			

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5A - TRENTON**  
**BID2025-18**  
**SUPPLEMENTAL BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET  One Dollar and No Cents (write Unit Price in words)	210	CY	\$ 1.00	\$ 210.00
S-2A.	IMPORTED COMMON FILL  One Dollar and No Cents (write Unit Price in words)	250	CY	\$ 1.00	\$ 250.00
S-2B.	CRUSHED STONE  Sixty Dollars and No Cents (write Unit Price in words)	25	CY	\$ 60.00	\$ 1,500.00
S-2C.	DENSE-GRADED AGGREGATE  Sixty Dollars and No Cents (write Unit Price in words)	45	CY	\$ 60.00	\$ 2,700.00
S-2D.	FLOWABLE FILL  One Hundred Eighty Dollars and No Cents (write Unit Price in words)	45	CY	\$ 180.00	\$ 8,100.00
S-3A.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE  Three Hundred Fifty Dollars and No Cents (write Unit Price in words)	310	SY	\$ 350.00	\$ 108,500.00
S-3B.	GRAVEL DRIVEWAY  Ten Dollars and No Cents (write Unit Price in words)	35	SY	\$ 10.00	\$ 350.00
S-3C.	BRICK OR ROCK PAVERS  One Hundred Thirty-Five Dollars and No Cents (write Unit Price in words)	35	CY	\$ 135.00	\$ 4,725.00
S-3D.	ASPHALT PRICE ADJUSTMENT  EIGHT THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$8,000	\$8,000
S-3E.	MISC. CONCRETE  Two Thousand Nine Hundred Dollars and No Cents (write Unit Price in words)	25	CY	\$ 2,900.00	\$ 72,500.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1A through S-3E)		\$ 206,835.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1A through S-3E)		\$ Two Hundred Six Thousand Eight Hundred Thirty-Five Dollars and No Cents			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 5,845,485.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Five Million Eight Hundred Forty-Five Thousand Four Hundred Eighty-Five Dollars and No Cents			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST OF SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID**

**(MANDATORY IF APPLICABLE)**

NAME Cooper Plumbing and Mechanical

ADDRESS 40 Patterson Ave

CITY, STATE, ZIP Hamilton, NJ 08610

TELEPHONE: 609-658-7242

FAX NO. n/a

TRADE Plumbing

LICENSE NO. 36BI01079000

NAME Garland and Sons Contracting LLC

ADDRESS 646 Rutherford Ave

CITY, STATE, ZIP Trenton, NJ 08618

TELEPHONE: 609-638-8995

FAX NO. n/a

TRADE Home Improvement

LICENSE NO. 13VH11142400

NAME Brent Material

ADDRESS 325 Columbia Turnpike

CITY, STATE, ZIP Florham Park, NJ 07932

TELEPHONE: 973-325-3030

FAX NO. 973-325-7360

TRADE no trade - material supplier only

LICENSE NO. n/a

NAME \_\_\_\_\_

ADDRESS \_\_\_\_\_

CITY, STATE, ZIP \_\_\_\_\_

TELEPHONE: \_\_\_\_\_

FAX NO. \_\_\_\_\_

TRADE \_\_\_\_\_

LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_

ADDRESS \_\_\_\_\_

CITY, STATE, ZIP \_\_\_\_\_

TELEPHONE: \_\_\_\_\_

FAX NO. \_\_\_\_\_

TRADE \_\_\_\_\_

LICENSE NO. \_\_\_\_\_

# Pacific Construction

PRICE SCHEDULE  
 TRENTON WATER WORKS  
 LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5A - TRENTON  
 BID2025-18  
 BASE BID

This project is funded through the SRF program. The total dollar amount of the construction project will not exceed the funds available. The number of water service lines will be adjusted based on the accepted unit price bid to stay within budget.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A-1. WATER SERVICE REPLACEMENT - UTILITY SIDE  <i>Four thousand one hundred Dollars</i> (write Unit Price in words)	470	EACH	\$ 4100 <sup>00</sup>	\$ 19,270.00
1.	A-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - UTILITY SIDE  <i>Four thousand one hundred Dollars</i> (write Unit Price in words)	115	EACH	\$ 4,100 <sup>00</sup>	\$ 471,500 <sup>00</sup>
1.	B-1. WATER SERVICE REPLACEMENT - HOMEOWNER SIDE  <i>Three thousand seven hundred Dollars</i> (write Unit Price in words)	375	EACH	\$ 3,700 <sup>00</sup>	\$ 1,387,500 <sup>00</sup>
1.	B-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - HOMEOWNER SIDE  <i>Three thousand seven hundred Dollars</i> (write Unit Price in words)	15	EACH	\$ 3,700 <sup>00</sup>	\$ 55,500 <sup>00</sup>
1.	C. NEW CURB STOP AT MAIN  <i>Five hundred Dollars</i> (write Unit Price in words)	100	EACH	\$ 500 <sup>00</sup>	\$ 50,000 <sup>00</sup>
1.	D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN  <i>Five hundred Dollars</i> (write Unit Price in words)	30	EACH	\$ 500 <sup>00</sup>	\$ 15,000 <sup>00</sup>
1.	E. WATER METER REPLACEMENT  <i>One hundred Dollars</i> (write Unit Price in words)	40	EACH	\$ 100 <sup>00</sup>	\$ 4,000 <sup>00</sup>
1.	F. ACCESS NOT PROVIDED  <i>One thousand Dollars</i> (write Unit Price in words)	40	EACH	\$ 1,000 <sup>00</sup>	\$ 40,000 <sup>00</sup>
1.	G. CURB STOP IN CONCRETE  <i>One hundred fifty Dollars</i> (write Unit Price in words)	700	EACH	\$ 150 <sup>00</sup>	\$ 105,000 <sup>00</sup>
1.	H. LONG-SIDE REPLACEMENT  <i>Five hundred Dollars</i> (write Unit Price in words)	295	EACH	\$ 500 <sup>00</sup>	\$ 147,500 <sup>00</sup>
1.	I. NEW CURB BOX (TEST PIT)  <i>Two hundred Dollars</i> (write Unit Price in words)	50	EACH	\$ 200 <sup>00</sup>	\$ 10,000 <sup>00</sup>
1.	J. NEW CURB VALVE (HOMEOWNER SIDE)  <i>Two hundred Dollars</i> (write Unit Price in words)	50	EACH	\$ 200 <sup>00</sup>	\$ 10,000 <sup>00</sup>

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
2.	TEST PIT AT CURB STOP  <i>Six hundred fifty Dollars</i> (write Unit Price in words)	150	EACH		
3. A.	FINAL PAVEMENT RESTORATION (Infra-red)  <i>One hundred fifty Dollars</i> (write Unit Price in words)	150	SY	\$ 650.00	\$
3. B.	FINAL PAVEMENT RESTORATION (Mill and Paving) (GUARANTEED MINIMUM 1,000 SY)  <i>Seventy five Dollars</i> (write Unit Price in words)	1,500	SY	\$ 150.00	\$
3. C.	FINAL RESTORATION COMPLETED  <i>Five hundred Dollars</i> (write Unit Price in words)	780	EACH	\$ 75.00	\$
4	ENVIRONMENTAL PROTECTION  <i>Ten thousand Dollars</i> (write Lump Sum Price in words)		LUMP SUM		
5	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER  <u>ONE HUNDRED FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE		\$ 10,000
6	UNIFORMED POLICE TRAFFIC CONTROL ALLOWANCE  <u>TWO HUNDRED EIGHTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
7	FLAGGER TRAFFIC CONTROL ALLOWANCE  <u>ONE HUNDRED TWENTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$280,000	\$280,000
8	PITCHER FILTERS AND REPLACEMENT CARTRIDGES  <i>One hundred Dollars</i> (write Unit Price in words)	1,100	EACH	\$120,000	\$120,000
9	PERMIT FEE ALLOWANCE  <u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$ 100.00	\$ 10,000
10	TECHNICIAN ALLOWANCE  <u>SIXTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000
TOTAL BASE BID PRICE IN FIGURES (Items 1A-1 through 10)		\$ 5,875,500			
TOTAL BASE BID PRICE IN WORDS (Items 1A-1 through 10)		<i>Five million eight hundred Seventy thousand five hundred Dollars and zero Cents</i>			

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5A - TRENTON**  
**BID2025-18**  
**SUPPLEMENTAL BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET  <u>Two hundred fifty Dollars</u> (write Unit Price in words)	210	CY	\$ 350 <sup>00</sup>	\$ 73,500 <sup>00</sup>
S-2A.	IMPORTED COMMON FILL  <u>Ten Dollars</u> (write Unit Price in words)	250	CY	\$ 10 <sup>00</sup>	\$ 2,500 <sup>00</sup>
S-2B.	CRUSHED STONE  <u>Ten Dollars</u> (write Unit Price in words)	25	CY	\$ 10 <sup>00</sup>	\$ 250 <sup>00</sup>
S-2C.	DENSE-GRADED AGGREGATE  <u>Ten Dollars</u> (write Unit Price in words)	45	CY	\$ 10 <sup>00</sup>	\$ 450 <sup>00</sup>
S-2D.	FLOWABLE FILL:  <u>Two hundred Dollars</u> (write Unit Price in words)	45	CY	\$ 200 <sup>00</sup>	\$ 9,000 <sup>00</sup>
S-3A.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE  <u>One hundred fifty Dollars</u> (write Unit Price in words)	310	SY	\$ 150 <sup>00</sup>	\$ 46,500 <sup>00</sup>
S-3B.	GRAVEL DRIVEWAY  <u>Fifty Dollars</u> (write Unit Price in words)	35	SY	\$ 50 <sup>00</sup>	\$ 1,750 <sup>00</sup>
S-3C.	BRICK OR ROCK PAVERS  <u>One hundred Dollars</u> (write Unit Price in words)	35	CY	\$ 100 <sup>00</sup>	\$ 3,500 <sup>00</sup>
S-3D.	ASPHALT PRICE ADJUSTMENT  <u>EIGHT THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$8,000	\$8,000
S-3E.	MISC. CONCRETE  <u></u> (write Unit Price in words)	25	CY	\$ 150 <sup>00</sup>	\$ 3,750 <sup>00</sup>
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1A through S-3E)		\$ 120,500			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1A through S-3E)		\$ One hundred forty eight thousand two hundred Dollars and zero cents			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 6,003,700			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Six million three thousand seven hundred Dollars and zero cents			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

PROVIDE A LIST OF SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID

(MANDATORY IF APPLICABLE)

NAME Max Plumbing and Heating Inc.  
ADDRESS 7 Evans Terminal Rd.  
CITY, STATE, ZIP Hillside NJ 07205  
TELEPHONE: 908-353-5004  
FAX NO. 908-820-8460  
TRADE Plumbing  
LICENSE NO. 36B101039200

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

DEWCO

PRICE SCHEDULE  
 TRENTON WATER WORKS  
 LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5A - TRENTON  
 BID2025-18  
 BASE BID

This project is funded through the SRF program. The total dollar amount of the construction project will not exceed the funds available. The number of water service lines will be adjusted based on the accepted unit price bid to stay within budget.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1. A-1. WATER SERVICE REPLACEMENT - UTILITY SIDE	<i>Sixty - Three Hundred Dollars</i> (write Unit Price in words)	470	EACH	\$ 6300.00	\$ 2961.00
1. A-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - UTILITY SIDE	<i>Sixty - Three Hundred Dollars</i> (write Unit Price in words)	115	EACH	\$ 6300.00	\$ 7245.00
1. B-1. WATER SERVICE REPLACEMENT - HOMEOWNER SIDE	<i>Sixty - One Hundred Dollars</i> (write Unit Price in words)	375	EACH	\$ 6,100.00	\$ 2,287.50
1. B-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - HOMEOWNER SIDE	<i>Sixty - One Hundred Dollars</i> (write Unit Price in words)	15	EACH	\$ 6,100.00	\$ 915.00
1. C. NEW CORP STOP AT MAIN	<i>One Dollar</i> (write Unit Price in words)	100	EACH	\$ 1.00	\$ 100.00
1. D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	<i>One Dollar</i> (write Unit Price in words)	30	EACH	\$ 1.00	\$ 30.00
1. E. WATER METER REPLACEMENT	<i>One Dollar</i> (write Unit Price in words)	40	EACH	\$ 1.00	\$ 40.00
1. F. ACCESS NOT PROVIDED	<i>One Dollar</i> (write Unit Price in words)	40	EACH	\$ 1.00	\$ 40.00
1. G. CURB STOP IN CONCRETE	<i>One Dollar</i> (write Unit Price in words)	700	EACH	\$ 1.00	\$ 700.00
1. H. LONG-SIDE REPLACEMENT	<i>Two Hundred Dollars</i> (write Unit Price in words)	295	EACH	\$ 400.00	\$ 1180.00
1. I. NEW CURB BOX (TEST PIT)	<i>One Dollar</i> (write Unit Price in words)	50	EACH	\$ 1.00	\$ 50.00
1. J. NEW CURB VALVE (HOMEOWNER SIDE)	<i>One Dollar</i> (write Unit Price in words)	50	EACH	\$ 1.00	\$ 50.00

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
2.	TEST PIT AT CURB STOP  <u>Two Hundred Dollars</u> (write Unit Price in words)	150	EACH	\$ 100.00	\$ 60,000.00
3. A.	FINAL PAVEMENT RESTORATION (Infra-red)  <u>Two Hundred Dollars</u> (write Unit Price in words)	150	SY	\$ 200.00	\$ 30,000.00
3. B.	FINAL PAVEMENT RESTORATION (Mill and Paving) (GUARANTEED MINIMUM 1,000 SY)  <u>Seventy-Two Thousand Dollars</u> (write Unit Price in words)	1,500	SY	\$ 75.00	\$ 112,500.00
3. C.	FINAL RESTORATION COMPLETED  <u>One Dollar</u> (write Unit Price in words)	780	EACH	\$ 1.00 (minimum \$500)	\$ 780.00
4	ENVIRONMENTAL PROTECTION  <u>One Dollar</u> (write Lump Sum Price in words)		LUMP SUM	\$ 1.00	\$ 1.00
5	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER  <u>One Hundred Fifty Thousand Dollars</u> (write Unit Price in words)		ALLOWANCE		
6	UNIFORMED POLICE TRAFFIC CONTROL ALLOWANCE  <u>Two Hundred Eighty Thousand Dollars</u> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
7	FLAGGER TRAFFIC CONTROL ALLOWANCE  <u>One Hundred Twenty Thousand Dollars</u> (write Unit Price in words)		ALLOWANCE	\$280,000	\$280,000
8	PITCHER FILTERS AND REPLACEMENT CARTRIDGES  <u>Fifty Dollars</u> (write Unit Price in words)	1,100	EACH	\$ 50.00	\$ 55,000.00
9	PERMIT FEE ALLOWANCE  <u>Three Hundred Thousand Dollars</u> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000
10	TECHNICIAN ALLOWANCE  <u>Sixty Thousand Dollars</u> (write Unit Price in words)		ALLOWANCE	\$60,000	\$60,000
TOTAL BASE BID PRICE IN FIGURES (Items 1A-1 through 10)		\$ 7,351,791.00			
TOTAL BASE BID PRICE IN WORDS (Items 1A-1 through 10)		\$ Seven Million Three Hundred and Fifty One Thousand Seven Hundred and Ninety One Dollars			

PRICE SCHEDULE  
 TRENTON WATER WORKS  
 LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5A - TRENTON  
 BID2025-18  
 SUPPLEMENTAL BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <u>One Dollar</u> (write Unit Price in words)	210	CY	\$ 1.00	\$ 210.00
S-2A.	IMPORTED COMMON FILL <u>One Dollar</u> (write Unit Price in words)	250	CY	\$ 1.00	\$ 250.00
S-2B.	CRUSHED STONE <u>One Dollar</u> (write Unit Price in words)	25	CY	\$ 1.00	\$ 25.00
S-2C.	DENSE-GRADED AGGREGATE <u>One Dollar</u> (write Unit Price in words)	45	CY	\$ 1.00	\$ 45.00
S-2D.	FLOWABLE FILL <u>Three Hundred Dollars</u> (write Unit Price in words)	45	CY	\$ 300.00	\$ 13,500.00
S-3A.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <u>Three Hundred Dollars</u> (write Unit Price in words)	310	SY	\$ 300.00	\$ 93,000.00
S-3B.	GRAVEL DRIVEWAY <u>One Dollar</u> (write Unit Price in words)	35	SY	\$ 1.00	\$ 35.00
S-3C.	BRICK OR ROCK PAVERS <u>One Dollar</u> (write Unit Price in words)	35	CY	\$ 1.00	\$ 35.00
S-3D.	ASPHALT PRICE ADJUSTMENT <u>EIGHT THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$8,000	\$8,000
S-3E.	MISC. CONCRETE <u>Three Hundred Dollars</u> (write Unit Price in words)	25	CY	\$ 300.00	\$ 7,500.00

TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1A through S-3E)

\$ 122,600.00

TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1A through S-3E)

\$ One Hundred Twenty-Two Thousand

TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES

\$ 7,474,391.00

TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS

\$ Seven Million - Seven Hundred - Forty Seven Thousand - Three Hundred Ninety One Dollars

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

PROVIDE A LIST OF SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID

(MANDATORY IF APPLICABLE)

NAME Tuccia Roni PLUMBING LLC  
ADDRESS 19 Lincoln Ave  
CITY, STATE, ZIP E. BRUNSWICK, NJ 08816  
TELEPHONE: 232-764-0224  
FAX NO.  
TRADE PLUMBER  
LICENSE NO. 368009 12900

NAME GRASS PAVING  
ADDRESS 2475 EAST STATE ST.  
CITY, STATE, ZIP TRENTON, NEW JERSEY 08619  
TELEPHONE: 609-890-6878  
FAX NO. GRASSPAVING@AOL.COM  
TRADE PAVING  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

Grade

PRICE SCHEDULE  
TRENTON WATER WORKS  
LEADSERVICE LINE REPLACEMENT PROJECT - PHASE 5A - TRENTON  
BID2025-18  
BASE BID

This project is funded through the SRF program. The total dollar amount of the construction project will not exceed the funds available. The number of water service lines will be adjusted based on the accepted unit price bid to stay within budget.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A-1. WATER SERVICE REPLACEMENT - UTILITY SIDE	470	EACH		
	Three Thousand Five Hundred Fifteen Dollars and Twenty Three Cents (write Unit Price in words)			\$ 3,515.23	\$ 1,652,158.10
1.	A-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - UTILITY SIDE	115	EACH		
	Four Thousand Eight Hundred Sixty Seven Dollars and Forty Cents (write Unit Price in words)			\$ 4,867.40	\$ 559,751.00
1.	B-1. WATER SERVICE REPLACEMENT - HOMEOWNER SIDE	375	EACH		
	Three Thousand One Hundred Twenty Dollars and Twenty Two Cents (write Unit Price in words)			\$ 3,120.22	\$ 1,170,082.50
1.	B-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - HOMEOWNER SIDE	15	EACH		
	Three Thousand Nine Hundred Eighty Four Dollars and Fifty Three Cents (write Unit Price in words)			\$ 3,984.53	\$ 59,767.95
1.	C. NEW CORP STOP AT MAIN	100	EACH		
	Five Hundred Sixty Five Dollars and Forty Four Cents (write Unit Price in words)			\$ 565.44	\$ 56,544.00
1.	D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	30	EACH		
	One Thousand Eight Hundred Thirty Eight Dollars and Thirty Seven Cents (write Unit Price in words)			\$ 1,838.37	\$ 55,151.10
1.	E. WATER METER REPLACEMENT	40	EACH		
	One Thousand Forty Three Dollars and Thirty Nine Cents (write Unit Price in words)			\$ 1,043.39	\$ 41,735.60
1.	F. ACCESS NOT PROVIDED	40	EACH		
	Four Hundred Eighty Seven Dollars and Sixty Six Cents (write Unit Price in words)			\$ 487.66	\$ 19,506.40
1.	G. CURB STOP IN CONCRETE	700	EACH		
	Three Hundred Fifty Four Dollars and Forty One Cents (write Unit Price in words)			\$ 354.41	\$ 248,087.00
1.	H. LONG-SIDE REPLACEMENT	295	EACH		
	One Thousand Eight Hundred Eighty Dollars and Eighty Six Cents (write Unit Price in words)			\$ 1,880.86	\$ 554,853.70
1.	I. NEW CURB BOX (TEST PIT)	50	EACH		
	Eight Hundred Five Dollars and Twenty Eight Cents (write Unit Price in words)			\$ 805.28	\$ 40,264.00
1.	J. NEWCURBVALVE (HOMEOWNER SIDE)	50	EACH		
	Two Hundred Seventy One Dollars and Eighty Seven Cents (write Unit Price in words)			\$ 271.87	\$ 13,593.50

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
2.	TEST PIT AT CURB STOP	150	EACH		
	One Thousand One Hundred Forty Four Dollars and Sixty Three Cents (write Unit Price in words)			\$ 1,144.63	\$ 171,694.50
3. A.	FINAL PAVEMENT RESTORATION (Infra-red)	150	SY		
	One Hundred Fifty Three Dollars and Sixty One Cents (write Unit Price in words)			\$ 153.61	\$ 23,041.50
3. B.	FINAL PAVEMENT RESTORATION (Mill and Paving) (GUARANTEED MINIMUM 1,000 SY)	1,500	SY		
	Thirty Dollars and Forty Eight Cents (write Unit Price in words)			\$ 30.48	\$ 45,720.00
3. C.	FINAL RESTORATION COMPLETED	780	EACH		
	Five Hundred Dollars and No Cents (write Unit Price in words)			\$ 500.00 (minimum \$500)	\$ 390,000.00
4	ENVIRONMENTAL PROTECTION		LUMP SUM		
	Three Hundred Thirty Six Thousand Twenty Dollars and One Cent (write Lump Sum Price in words)				\$ 336,020.01
5	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER		ALLOWANCE		
	ONE HUNDRED FIFTY THOUSAND DOLLARS (write Unit Price in words)			\$150,000	\$150,000
6	UNIFORMED POLICE TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	TWO HUNDRED EIGHTY THOUSAND DOLLARS (write Unit Price in words)			\$280,000	\$280,000
7	FLAGGER TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	ONE HUNDRED TWENTY THOUSAND DOLLARS (write Unit Price in words)			\$120,000	\$120,000
8	PITCHER FILTERS AND REPLACEMENT CARTRIDGES	1,100	EACH		
	Forty One Dollars and Seventy Nine Cents (write Unit Price in words)			\$ 41.79	\$ 45,969.00
9	PERMIT FEE ALLOWANCE		ALLOWANCE		
	THREE HUNDRED THOUSAND DOLLARS (write Unit Price in words)			\$300,000	\$300,000
10	TECHNICIAN ALLOWANCE		ALLOWANCE		
	SIXTY THOUSAND DOLLARS (write Unit Price in words)			\$60,000	\$60,000
TOTAL BASE BID PRICE IN FIGURES (Items 1A-1 through 10)		\$ 6,393,939.86			
TOTAL BASE BID PRICE IN WORDS (Items 1A-1 through 10)		\$ Six Million Three Hundred Ninety Three Thousand Nine Hundred Thirty Nine Dollars and Eighty Six Cents			

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5A - TRENTON**  
**BID2025-18**  
**SUPPLEMENTAL BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET  One Hundred Twenty One Dollars and Ninety Cents (write Unit Price in words)	210	CY	\$ 121.90	\$ 25,599.00
S-2A.	IMPORTED COMMON FILL  Sixty Dollars and Eighty Four Cents (write Unit Price in words)	250	CY	\$ 60.84	\$ 15,210.00
S-2B.	CRUSHED STONE  Seventy One Dollars and Eighty Eight Cents (write Unit Price in words)	25	CY	\$ 71.88	\$ 1,797.00
S-2C.	DENSE-GRADED AGGREGATE  Sixty Dollars and Twenty Five Cents (write Unit Price in words)	45	CY	\$ 60.25	\$ 2,711.25
S-2D.	FLOWABLE FILL  Three Hundred Thirteen Dollars and Eighty Six Cents (write Unit Price in words)	45	CY	\$ 313.86	\$ 14,123.70
S-3A.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE  Ninety Five Dollars and Twenty Nine Cents (write Unit Price in words)	310	SY	\$ 95.29	\$ 29,539.90
S-3B.	GRAVEL DRIVEWAY  Fifty Eight Dollars and Thirty Six Cents (write Unit Price in words)	35	SY	\$ 58.36	\$ 2,042.60
S-3C.	BRICK OR ROCK PAVERS  Two Hundred Twenty One Dollars and Eight Cents (write Unit Price in words)	35	CY	\$ 221.08	\$ 7,737.80
S-3D.	ASPHALT PRICE ADJUSTMENT  EIGHT THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$8,000	\$8,000
S-3E.	MISC. CONCRETE  Seven Hundred Twenty Five Dollars and Fifty Two Cents (write Unit Price in words)	25	CY	\$ 725.52	\$ 18,138.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1A through S-3E)		\$ 124,899.25			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1A through S-3E)		\$ One Hundred Twenty Four Thousand Eight Hundred Ninety Nine Dollars and Twenty Five Cents			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 6,518,839.11			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Six Million Five Hundred Eighteen Thousand Eight Hundred Thirty Nine Dollars and Eleven Cents			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST OF SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID**

**(MANDATORY IF APPLICABLE)**

NAME SELF PERFORMED IN HOUSE BY GRADE CONSTRUCTION

ADDRESS \_\_\_\_\_

CITY, STATE, ZIP \_\_\_\_\_

TELEPHONE: \_\_\_\_\_

FAX NO. \_\_\_\_\_

TRADE STRUCTURAL STEEL

LICENSE NO. \_\_\_\_\_

NAME Brian Trematore Plumbing & Heating Inc

ADDRESS 5 Daniel Rd E,

CITY, STATE, ZIP Fairfield, NJ 07004

TELEPHONE: (973) 227-8330

FAX NO. \_\_\_\_\_

TRADE Plumbing

LICENSE NO. 36BI00692200

NAME \_\_\_\_\_

ADDRESS \_\_\_\_\_

CITY, STATE, ZIP \_\_\_\_\_

TELEPHONE: \_\_\_\_\_

FAX NO. \_\_\_\_\_

TRADE \_\_\_\_\_

LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_

ADDRESS \_\_\_\_\_

CITY, STATE, ZIP \_\_\_\_\_

TELEPHONE: \_\_\_\_\_

FAX NO. \_\_\_\_\_

TRADE \_\_\_\_\_

LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_

ADDRESS \_\_\_\_\_

CITY, STATE, ZIP \_\_\_\_\_

TELEPHONE: \_\_\_\_\_

FAX NO. \_\_\_\_\_

TRADE \_\_\_\_\_

LICENSE NO. \_\_\_\_\_

00100-63

# Waters & Bugbee, Inc

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5A - TRENTON**  
**BID2025-18**  
**BASE BID**

This project is funded through the SRF program. The total dollar amount of the construction project will not exceed the funds available. The number of water service lines will be adjusted based on the accepted unit price bid to stay within budget.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1. A-1. WATER SERVICE REPLACEMENT - UTILITY SIDE		470	EACH		
	<b>Four Thousand One Hundred Ten Dollars and Zero Cents</b>				
	(write Unit Price in words)			<u>\$ 4,110.00</u>	<u>\$ 1,931,700.00</u>
1. A-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - UTILITY SIDE		115	EACH		
	<b>Four Thousand Eight Hundred Sixty Five Dollars and Zero Cents</b>			<u>\$ 4,865.00</u>	<u>\$ 559,475.00</u>
	(write Unit Price in words)				
1. B-1. WATER SERVICE REPLACEMENT - HOMEOWNER SIDE		375	EACH		
	<b>Four Thousand Three Hundred Ninety Dollars and Zero Cents</b>				
	(write Unit Price in words)			<u>\$ 4,390.00</u>	<u>\$ 1,646,250.00</u>
1. B-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - HOMEOWNER SIDE		15	EACH		
	<b>Five Thousand Four Hundred Seventy Five Dollars and Zero Cents</b>			<u>\$ 5,475.00</u>	<u>\$ 82,125.00</u>
	(write Unit Price in words)				
1. C. NEW CORP STOP AT MAIN		100	EACH		
	<b>One Hundred Fifty Dollars and Zero Cents</b>				
	(write Unit Price in words)			<u>\$ 150.00</u>	<u>\$ 15,000.00</u>
1. D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN		30	EACH		
	<b>One Thousand Two Hundred Thirty Five Dollars and Zero Cents</b>				
	(write Unit Price in words)			<u>\$ 1,235.00</u>	<u>\$ 37,050.00</u>
1. E. WATER METER REPLACEMENT		40	EACH		
	<b>One Hundred Thirty Dollars and Zero Cents</b>			<u>\$ 130.00</u>	<u>\$ 5,200.00</u>
	(write Unit Price in words)				
1. F. ACCESS NOT PROVIDED		40	EACH		
	<b>Four Hundred Dollars and Zero Cents</b>				
	(write Unit Price in words)			<u>\$ 400.00</u>	<u>\$ 16,000.00</u>
1. G. CURB STOP IN CONCRETE		700	EACH		
	<b>Three Hundred Fifty Five Dollars and Zero Cents</b>				
	(write Unit Price in words)			<u>\$ 355.00</u>	<u>\$ 248,500.00</u>
1. H. LONG-SIDE REPLACEMENT		295	EACH		
	<b>Nine Hundred Forty Dollars and Zero Cents</b>				
	(write Unit Price in words)			<u>\$ 940.00</u>	<u>\$ 277,300.00</u>
1. I. NEW CURB BOX (TEST PIT)		50	EACH		
	<b>One Hundred Seventy Dollars and Zero Cents</b>				
	(write Unit Price in words)			<u>\$ 170.00</u>	<u>\$ 8,500.00</u>
1. J. NEW CURB VALVE (HOMEOWNER SIDE)		50	EACH		
	<b>Five Hundred Dollars and Zero Cents</b>				
	(write Unit Price in words)			<u>\$ 500.00</u>	<u>\$ 25,000.00</u>

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
2.	TEST PIT AT CURB STOP  <b>One Hundred Twenty Dollars and Zero Cents</b> (write Unit Price in words)	150	EACH	\$ 120.00	\$ 18,000.00
3. A.	FINAL PAVEMENT RESTORATION (Infra-red)  <b>Ninety Four Dollars and Fifty Cents</b> (write Unit Price in words)	150	SY	\$ 94.50	\$ 14,175.00
3. B.	FINAL PAVEMENT RESTORATION (Mill and Paving) (GUARANTEED MINIMUM 1,000 SY)  <b>Seventy Four Dollars and Zero Cents</b> (write Unit Price in words)	1,500	SY	\$ 74.00	\$ 111,000.00
3. C.	FINAL RESTORATION COMPLETED  <b>Six Hundred Forty Dollars and Zero Cents</b> (write Unit Price in words)	780	EACH	\$ 640.00 (minimum \$500)	\$ 499,200.00
4	ENVIRONMENTAL PROTECTION  <b>Eleven Thousand Six Hundred Dollars and Zero Cents</b> (write Lump Sum Price in words)		LUMP SUM		\$ 11,600.00
5	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER  <b>ONE HUNDRED FIFTY THOUSAND DOLLARS</b> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
6	UNIFORMED POLICE TRAFFIC CONTROL ALLOWANCE  <b>TWO HUNDRED EIGHTY THOUSAND DOLLARS</b> (write Unit Price in words)		ALLOWANCE	\$280,000	\$280,000
7	FLAGGER TRAFFIC CONTROL ALLOWANCE  <b>ONE HUNDRED TWENTY THOUSAND DOLLARS</b> (write Unit Price in words)		ALLOWANCE	\$120,000	\$120,000
8	PITCHER FILTERS AND REPLACEMENT CARTRIDGES  <b>Thirty Six Dollars and Fifty Cents</b> (write Unit Price in words)	1,100	EACH	\$ 36.50	\$ 40,150.00
9	PERMIT FEE ALLOWANCE  <b>THREE HUNDRED THOUSAND DOLLARS</b> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000
10	TECHNICIAN ALLOWANCE  <b>SIXTY THOUSAND DOLLARS</b> (write Unit Price in words)		ALLOWANCE	\$60,000	\$60,000
TOTAL BASE BID PRICE IN FIGURES (Items 1A-1 through 10)		\$ <b>6,456,225.00</b>			
TOTAL BASE BID PRICE IN WORDS (Items 1A-1 through 10)		\$ <b>Six Million Four Hundred Fifty Six Thousand Two Hundred Twenty Five Dollars and Zero Cents</b>			

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5A - TRENTON**  
**BID2025-18**  
**SUPPLEMENTAL BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <b>Ninety Six Dollars and Zero Cents</b> (write Unit Price in words)	210	CY	\$ 96.00	\$ 20,160.00
S-2A.	IMPORTED COMMON FILL <b>Forty Four Dollars and Zero Cents</b> (write Unit Price in words)	250	CY	\$ 44.00	\$ 11,000.00
S-2B.	CRUSHED STONE <b>Fifty Nine Dollars and Zero Cents</b> (write Unit Price in words)	25	CY	\$ 59.00	\$ 1,475.00
S-2C.	DENSE-GRADED AGGREGATE <b>Fifty Two Dollars and Zero Cents</b> (write Unit Price in words)	45	CY	\$ 52.00	\$ 2,340.00
S-2D.	FLOWABLE FILL <b>One Hundred Ninety Five Dollars and Zero Cents</b> (write Unit Price in words)	45	CY	\$ 195.00	\$ 8,775.00
S-3A.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <b>One Hundred Seventy Dollars and Zero Cents</b> (write Unit Price in words)	310	SY	\$ 170.00	\$ 52,700.00
S-3B.	GRAVEL DRIVEWAY <b>One Hundred Twenty Five Dollars and Zero Cents</b> (write Unit Price in words)	35	SY	\$ 125.00	\$ 4,375.00
S-3C.	BRICK OR ROCK PAVERS <b>Four Hundred Five Dollars and Zero Cents</b> (write Unit Price in words)	35	CY	\$ 405.00	\$ 14,175.00
S-3D.	ASPHALT PRICE ADJUSTMENT <b>EIGHT THOUSAND DOLLARS</b> (write Unit Price in words)		ALLOWANCE	\$ 8,000	\$ 8,000
S-3E.	MISC. CONCRETE <b>Six Hundred Twenty Dollars and Zero Cents</b> (write Unit Price in words)	25	CY	\$ 620.00	\$ 15,500.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1A through S-3E)		\$ 138,500.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1A through S-3E)		\$ One Hundred Thirty Eight Thousand Five Hundred Dollars and Zero Cents			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 6,594,725.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Six Million Five Hundred Ninety Four Thousand Seven Hundred Twenty Five Dollars and Zero Cents			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST OF SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID**

**(MANDATORY IF APPLICABLE)**

NAME **PLUMBER IN HOUSE / SELF PERFORMED (License Attached)**

ADDRESS \_\_\_\_\_

CITY, STATE, ZIP \_\_\_\_\_

TELEPHONE: \_\_\_\_\_

FAX NO. \_\_\_\_\_

TRADE \_\_\_\_\_

LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_

ADDRESS \_\_\_\_\_

CITY, STATE, ZIP \_\_\_\_\_

TELEPHONE: \_\_\_\_\_

FAX NO. \_\_\_\_\_

TRADE \_\_\_\_\_

LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_

ADDRESS \_\_\_\_\_

CITY, STATE, ZIP \_\_\_\_\_

TELEPHONE: \_\_\_\_\_

FAX NO. \_\_\_\_\_

TRADE \_\_\_\_\_

LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_

ADDRESS \_\_\_\_\_

CITY, STATE, ZIP \_\_\_\_\_

TELEPHONE: \_\_\_\_\_

FAX NO. \_\_\_\_\_

TRADE \_\_\_\_\_

LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_

ADDRESS \_\_\_\_\_

CITY, STATE, ZIP \_\_\_\_\_

TELEPHONE: \_\_\_\_\_

FAX NO. \_\_\_\_\_

TRADE \_\_\_\_\_

LICENSE NO. \_\_\_\_\_

00100-63

# UnderGround UTILITIES

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5A - TRENTON**  
**BID2025-18**  
**BASE BID**

This project is funded through the SRF program. The total dollar amount of the construction project will not exceed the funds available. The number of water service lines will be adjusted based on the accepted unit price bid to stay within budget.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1. A-1. WATER SERVICE REPLACEMENT - UTILITY SIDE	<u>Six Thousand Dollars</u> (write Unit Price in words)	470	EACH	\$ 6,000	\$ 2,820,000
1. A-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - UTILITY SIDE	<u>Eight Thousand Dollars</u> (write Unit Price in words)	115	EACH	\$ 8,000	\$ 920,000
1. B-1. WATER SERVICE REPLACEMENT - HOMEOWNER SIDE	<u>Five Thousand Dollars.</u> (write Unit Price in words)	375	EACH	\$ 5,000	\$ 1,875,000
1. B-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - HOMEOWNER SIDE	<u>Eight Thousand Dollars.</u> (write Unit Price in words)	15	EACH	\$ 8,000	\$ 120,000
1. C. NEW CORP STOP AT MAIN	<u>One Hundred Fifty Dollars.</u> (write Unit Price in words)	100	EACH	\$ 150	\$ 15,000
1. D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	<u>One Thousand Dollars.</u> (write Unit Price in words)	30	EACH	\$ 1,000	\$ 30,000
1. E. WATER METER REPLACEMENT	<u>One Hundred Dollars</u> (write Unit Price in words)	40	EACH	\$ 100	\$ 4,000
1. F. ACCESS NOT PROVIDED	<u>One Dollar</u> (write Unit Price in words)	40	EACH	\$ 1	\$ 40
1. G. CURB STOP IN CONCRETE	<u>One Dollar</u> (write Unit Price in words)	700	EACH	\$ 1	\$ 700
1. H. LONG-SIDE REPLACEMENT	<u>One Thousand Dollars</u> (write Unit Price in words)	295	EACH	\$ 1,000	\$ 295,000
1. I. NEW CURB BOX (TEST PIT)	<u>Seven Hundred Fifty Dollars.</u> (write Unit Price in words)	50	EACH	\$ 750	\$ 37,500
1. J. NEW CURB VALVE (HOMEOWNER SIDE)	<u>One Dollar</u> (write Unit Price in words)	50	EACH	\$ 1	\$ 50

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
2.	TEST PIT AT CURB STOP	150	EACH		
	<u>Seven Hundred Fifty Dollars</u> (write Unit Price in words)			\$ 750	\$ 112,500
3. A.	FINAL PAVEMENT RESTORATION (Infra-red)	150	SY		
	<u>One Hundred Fifty Hours.</u> (write Unit Price in words)			\$ 150	\$ 22,500
3. B.	FINAL PAVEMENT RESTORATION (Mill and Paving) (GUARANTEED MINIMUM 1,000 SY)	1,500	SY		
	<u>Twenty Five Hours.</u> (write Unit Price in words)			\$ 25	\$ 37,500
3. C.	FINAL RESTORATION COMPLETED	780	EACH		
	<u>Five Hundred Hours.</u> (write Unit Price in words)			\$ 500 (minimum \$500)	\$ 390,000
4	ENVIRONMENTAL PROTECTION		LUMP SUM		
	<u>Ten Thousand Dollars</u> (write Lump Sum Price in words)				\$ 10,000
5	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER		ALLOWANCE		
	<u>ONE HUNDRED FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)			\$150,000	\$150,000
6	UNIFORMED POLICE TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	<u>TWO HUNDRED EIGHTY THOUSAND DOLLARS</u> (write Unit Price in words)			\$280,000	\$280,000
7	FLAGGER TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	<u>ONE HUNDRED TWENTY THOUSAND DOLLARS</u> (write Unit Price in words)			\$120,000	\$120,000
8	PITCHER FILTERS AND REPLACEMENT CARTRIDGES	1,100	EACH		
	<u>Fifty Dollars.</u> (write Unit Price in words)			\$ 50	\$ 55,000
9	PERMIT FEE ALLOWANCE		ALLOWANCE		
	<u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)			\$300,000	\$300,000
10	TECHNICIAN ALLOWANCE		ALLOWANCE		
	<u>SIXTY THOUSAND DOLLARS</u> (write Unit Price in words)			\$60,000	\$60,000
TOTAL BASE BID PRICE IN FIGURES (Items 1A-1 through 10)		\$ 7654790.00			
TOTAL BASE BID PRICE IN WORDS (Items 1A-1 through 10)		<u>\$ Seven Million Six Hundred Fifty Four Thousand Seven Hundred Ninety Dollars and zero Cent's.</u>			

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5A - TRENTON**  
**BID2025-18**  
**SUPPLEMENTAL BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET  (write Unit Price in words)	210	CY	\$ 1	\$ 210
S-2A.	IMPORTED COMMON FILL  (write Unit Price in words)	250	CY	\$ 1	\$ 250
S-2B.	CRUSHED STONE  (write Unit Price in words)	25	CY	\$ 1	\$ 25
S-2C.	DENSE-GRADED AGGREGATE  (write Unit Price in words)	45	CY	\$ 1	\$ 45
S-2D.	FLOWABLE FILL  (write Unit Price in words)	45	CY	\$ 300	\$ 13,500
S-3A.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE  (write Unit Price in words)	310	SY	\$ 100	\$ 31,000
S-3B.	GRAVEL DRIVEWAY  (write Unit Price in words)	35	SY	\$ 1	\$ 35
S-3C.	BRICK OR ROCK PAVERS  (write Unit Price in words)	35	CY	\$ 1	\$ 35
S-3D.	ASPHALT PRICE ADJUSTMENT  EIGHT THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$8,000	\$8,000
S-3E.	MISC. CONCRETE  (write Unit Price in words)	25	CY	\$ 300	\$ 7,500
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1A through S-3E)		\$ 60,600.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1A through S-3E)		\$ Sixty Thousand Dollars Six Hundred			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 7,715,390.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Seven million Seven Hundred Fifteen Thousand Three Hundred Thirty Dollars and Zero Cents.			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST OF SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID**

**(MANDATORY IF APPLICABLE)**

NAME Cooper Plumbing and Mechanical  
ADDRESS 40 Patterson Avenue  
CITY, STATE, ZIP Trenton, New Jersey 08610  
TELEPHONE: 609-586-1813  
FAX NO. \_\_\_\_\_  
TRADE Plumbing  
LICENSE NO. 36B101079000

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

# SouTH STATE

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5A - TRENTON**  
**BID2025-18**  
**BASE BID**

This project is funded through the SRF program. The total dollar amount of the construction project will not exceed the funds available. The number of water service lines will be adjusted based on the accepted unit price bid to stay within budget.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A-1. WATER SERVICE REPLACEMENT - UTILITY SIDE  <i>Three thousand seven hundred dollars</i> (write Unit Price in words)	470	EACH	\$3,700.00	\$17,39,000.00
1.	A-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - UTILITY SIDE  <i>Six thousand Five hundred dollars</i> (write Unit Price in words)	115	EACH	\$6,500.00	\$74,750.00
1.	B-1. WATER SERVICE REPLACEMENT - HOMEOWNER SIDE  <i>Four thousand two hundred dollars</i> (write Unit Price in words)	375	EACH	\$4,200.00	\$1,575,000.00
1.	B-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - HOMEOWNER SIDE  <i>Four thousand two hundred dollars</i> (write Unit Price in words)	15	EACH	\$4,200.00	\$63,000.00
1.	C. NEW CURB STOP AT MAIN  <i>Fifty dollars</i> (write Unit Price in words)	100	EACH	\$50.00	\$5,000.00
1.	D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN  <i>Five hundred dollars</i> (write Unit Price in words)	30	EACH	\$500.00	\$15,000.00
1.	E. WATER METER REPLACEMENT  <i>One hundred fifty dollars</i> (write Unit Price in words)	40	EACH	\$150.00	\$6,000.00
1.	F. ACCESS NOT PROVIDED  <i>Two hundred fifty dollars</i> (write Unit Price in words)	40	EACH	\$250.00	\$10,000.00
1.	G. CURB STOP IN CONCRETE  <i>Seven hundred Fifty dollars</i> (write Unit Price in words)	700	EACH	\$750.00	\$525,000.00
1.	H. LONG-SIDE REPLACEMENT  <i>Six hundred fifty dollars</i> (write Unit Price in words)	295	EACH	\$650.00	\$191,750.00
1.	I. NEW CURB BOX (TEST PIT)  <i>Five hundred dollars</i> (write Unit Price in words)	50	EACH	\$500.00	\$25,000.00
1.	J. NEW CURB VALVE (HOMEOWNER SIDE)  <i>One hundred thirty dollars</i> (write Unit Price in words)	50	EACH	\$130.00	\$6,500.00

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
2.	TEST PIT AT CURB STOP	150	EACH		
	<u>Five hundred dollars</u> (write Unit Price in words)			<u>\$ 500.00</u>	<u>\$ 75,000.00</u>
3. A.	FINAL PAVEMENT RESTORATION (Infra-red)	150	SY		
	<u>One hundred fifty dollars</u> (write Unit Price in words)			<u>\$ 150.00</u>	<u>\$ 22,500.00</u>
3. B.	FINAL PAVEMENT RESTORATION (Mill and Paving) (GUARANTEED MINIMUM 1,000 SY)	1,500	SY		
	<u>One hundred eighty dollars</u> (write Unit Price in words)			<u>\$ 180.00</u>	<u>\$ 270,000.00</u>
3. C.	FINAL RESTORATION COMPLETED	780	EACH		
	<u>Two thousand five hundred eighty dollars</u> (write Unit Price in words)			<u>\$ 2,580.00</u> (minimum \$500)	<u>\$ 2,012,400.00</u>
4	ENVIRONMENTAL PROTECTION		LUMP SUM		
	<u>One thousand dollars</u> (write Lump Sum Price in words)				<u>\$ 1,000.00</u>
5	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER		ALLOWANCE		
	<u>ONE HUNDRED FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)			<u>\$150,000</u>	<u>\$150,000</u>
6	UNIFORMED POLICE TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	<u>TWO HUNDRED EIGHTY THOUSAND DOLLARS</u> (write Unit Price in words)			<u>\$280,000</u>	<u>\$280,000</u>
7	FLAGGER TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	<u>ONE HUNDRED TWENTY THOUSAND DOLLARS</u> (write Unit Price in words)			<u>\$120,000</u>	<u>\$120,000</u>
8	PITCHER FILTERS AND REPLACEMENT CARTRIDGES	1,100	EACH		
	<u>forty dollars</u> (write Unit Price in words)			<u>\$ 40.00</u>	<u>\$ 44,000.00</u>
9	PERMIT FEE ALLOWANCE		ALLOWANCE		
	<u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)			<u>\$300,000</u>	<u>\$300,000</u>
10	TECHNICIAN ALLOWANCE		ALLOWANCE		
	<u>SIXTY THOUSAND DOLLARS</u> (write Unit Price in words)			<u>\$60,000</u>	<u>\$60,000</u>
TOTAL BASE BID PRICE IN FIGURES (Items 1A-1 through 10)		<u>\$ 8,243,650.00</u>			
TOTAL BASE BID PRICE IN WORDS (Items 1A-1 through 10)		<u>\$ Eight million two hundred forty-three thousand six hundred fifty dollars</u>			

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5A - TRENTON**  
**BID2025-18**  
**SUPPLEMENTAL BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET  <u>Fifty dollars</u> (write Unit Price in words)	210	CY	\$ 50.00	\$ 10,500.00
S-2A.	IMPORTED COMMON FILL  <u>Fifty dollars</u> (write Unit Price in words)	250	CY	\$ 50.00	\$ 12,500.00
S-2B.	CRUSHED STONE  <u>Fifty dollars</u> (write Unit Price in words)	25	CY	\$ 50.00	\$ 1,250.00
S-2C.	DENSE-GRADED AGGREGATE  <u>Seventy dollars</u> (write Unit Price in words)	45	CY	\$ 70.00	\$ 3,150.00
S-2D.	FLOWABLE FILL  <u>Two hundred dollars</u> (write Unit Price in words)	45	CY	\$ 200.00	\$ 9,000.00
S-3A.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE  <u>One thousand nine hundred dollars</u> (write Unit Price in words)	310	SY	\$ 1,900.00	\$ 589,000.00
S-3B.	GRAVEL DRIVEWAY  <u>Fifty dollars</u> (write Unit Price in words)	35	SY	\$ 50.00	\$ 1,750.00
S-3C.	BRICK OR ROCK PAVERS  <u>Four hundred dollars</u> (write Unit Price in words)	35	CY	\$ 400.00	\$ 14,000.00
S-3D.	ASPHALT PRICE ADJUSTMENT  <u>EIGHT THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE		
				\$8,000	\$8,000
S-3E.	MISC. CONCRETE  <u>Seven hundred Fifty dollars</u> (write Unit Price in words)	25	CY	\$ 750.00	\$ 18,750.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1A through S-3E)		\$ 667,900.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1A through S-3E)		\$ Six hundred sixty-seven thousand, nine hundred dollars			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 8,911,550.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Eight million nine hundred eleven thousand five hundred Fifty dollars			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

PROVIDE A LIST OF SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID

(MANDATORY IF APPLICABLE)

NAME Flesca Mechanical  
ADDRESS 3329 W. Mill Rd.  
CITY, STATE, ZIP Vineland NJ 08360  
TELEPHONE: 856. 794. 2010  
FAX NO.  
TRADE Plumber  
LICENSE NO. 36B10139600

NAME Dichi Electric Inc.  
ADDRESS 190-B S. 2nd Rd.  
CITY, STATE, ZIP Hammonton NJ 08037  
TELEPHONE: 609. 567. 8080  
FAX NO.  
TRADE Electrician  
LICENSE NO. 34ER00 853600

NAME  
ADDRESS  
CITY, STATE, ZIP  
TELEPHONE:  
FAX NO.  
TRADE  
LICENSE NO.

NAME  
ADDRESS  
CITY, STATE, ZIP  
TELEPHONE:  
FAX NO.  
TRADE  
LICENSE NO.

NAME  
ADDRESS  
CITY, STATE, ZIP  
TELEPHONE:  
FAX NO.  
TRADE  
LICENSE NO.

00100-63